All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)

Trade Name: Draughtsman Civil Year 2
Year: 2nd Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)
3. There is no negative marking

Max Marks :

150

[¥]

Sr.
No.

Client Question

D Question Body and Alternatives

Trade Theory
1 What is the use of function key F3?

e B F3 T IUTNT AT 72

:A' OSNAP
OSNAP
A2 TABLET
TABLET
3 ISOPLANE
ISOPLANE
A SAVE AS

SAVE AS
Trade The(l;y
2 Which of the following software is limited for AutoCAD installation?

FRafifad & @ &9 91 J0eaTR AutoCAD SICTARM & forg&iid 82

Al Windows DOS
fd€= pos

_Az Windows 98

EEEEE

.A3 Windows 03

A 03

54 Windows 10

a8 10

Trade Theory
3 What is the name of the command from the figure given below?

12 feu 7T 31 S | HHIS HTAH A2

DCNIaL1an2

{\1 Star command

TR HHE

Marks

2.0

2.0

2.0

Negative
Marks

0.00

0.00

0.00



éz Array command
RFATS

f\3 Point command
tise S

:A4 Trim command
fen ®Hts

Trade Theory

What is the name of the command in the figure given below?

92 Ru T 31 & HaiS 1 T |12

Do EsLIoAE

{\1 Offset
e

A2 Lo
7 Construction line

HRGH

Multi line
e drE

4 P line

A3

A

P alg

v Trade Theory

What is the name of the command in the figure given below?

A2 U 3fipe & HHiS BT AW FT?

A

DONILIOH

Al b line
I aNIER]
A

2 M line
MdlRT

:A3 Spline
LSEICIES]

4 Poly line
BISIKIES]

A

Trade Theory
What is the full form of UCS?
UCS &1 Y0l &0 182

2.0

2.0

0.00

0.00

0.00



Al

. User CAD System

User CAD System

A2

.~ User CADD System

User CADD System

A3 User Co-ordinate System

User Co-ordinate System

,A4 User Circle System

User Circle System

What is the name of the point marked as 'x'?

X' & w0 § fafga fig w19 s g2

Trade Theory

Wiy

— S

@ﬁ%x

DONESLIGHS

A

! Midpoint of dollar

IR &1 A fdg

{\2 Midpoint of offset
3Hfpe BT O fog

_A3 Centre point of array

WHTH5 g

54 Centre point of leader line

dier @8 &1 $% fig

Which shorteut key does the work of ortho?

B e Pt il BT BT BT 82

Al pg

F6
A2 gy
F7
A3 pg
F8
A4 g

F9

Trade Theory

Trade Theory

Which shortcut key does the work of Redo last action?

Redo 1 3ifeH el T @ 1 6 idepe o 22

A

1 Ctrl+Z

Ctrl+Z

2.0

2.0

2.0



A2 cul+y

Ctrl+Y

A3 culvc

Ctrl +C

A4 Ctrl + X

Ctrl + X

10 10 What is the use of shortcut key 'H'?

Qicdhe Bt H' BT IUANT RIT 82

.Al Help

B3

52 B hatch

BEd

_A3 Hatch

&

54 Hollow block

e st

11 1 What is the use of the shortcut key 'M Text'?

Tiiéehe ol 'M TaRe BT IUTNT 1 5?

A

! Modify text
TTEwT TRe
52 Move text

TGRS

53 Multi text

el Tae

_A4 Menu text

A eRe

12 12 What is the use of 'Q' shortcut key?
'Q TicHe HoilbI FUTNT 1 82
:Al Quit
f@e
:A2 Quick calc
e v
?‘3 Save as
9T
:A4 "Q" leader

uQu Eﬁg-\r

Trade Theory

Trade Theory

Trade Theory

Trade Theory

1313 Which of the following shortcut keys gives quick calc?

fFrafefed # 3 o W Aidwe il fde Fep Tt 82

Al cul v 6

Ctrl + 6

2.0

2.0

2.0

2.0

0.00

0.00



A2 cul+7

Ctrl +7

A3 Cul+ 8
Ctrl+8

A4 Ctrl +9

Ctrl +9
Trade Theory

Which of the following pointing device is cheaper while comparing the digitizer?

fERemeR @t ga o= T gl & 3 o a1 uifen fame war g

.Al Key board

S

A2 Puck

Th
. Mouse
HISH
é4 Enter key
R B!
Trade Theory

Which of the following commands has one major option?

o Forel § 9 te v fadwe 82

fM Line
A

2 M line
M e
:AS P line
P ol
f\4 Polygon

IS

Trade Theory
What is the extension for 3D modelling file?

3D HIS T Brge & fod Taue< 32

0.3dm
A3 0 3m
0.3 m
:A4 0.3dmo

0.3dmo

Trade Theory

‘Which command allows you to change 2D drawing into 3D model?

B HHIS MUS! 2D ST Y 3D Al & geeH B oifafa 3t 32

.Al 3D modelling

3 S ArsfenT

2.0

2.0

2.0

2.0

0.00

0.00



AZ Extrude

{\3 C plan

C Wl
A

4 Ortho
3t
Trade Theory

18 18 What is the full form of WCS?
wes &1 quf wu R e

.A] Western Co- ordinate System

Western Co- ordinate System

,Az World Co- ordinate System

World Co- ordinate System
53 Wide Co -ordinate System

Wide Co -ordinate System

54 Wrong Co-ordinate System

Wrong Co-ordinate System

Trade Theory

What is the shortcut to cancel the last command selected?

T 3T BHTS B IE B BT Alcbe 7732

:Al Ctrl +]
Ctrl +]
:Az Cul+]
Ctrl + [

A3 4y

Ctrl +}
54 Ctrl +,

Ctrl +,
Trade Theory

20 20 What is the shortcut for rendering an image?

Teh 3HS UaM B & g Widee s g2

Algs

RS

:A2 RSP
RSP
A3 pp
RP
.A4 RW
RW

Trade Theory

21 21 What is the shortcut for rendering a specified part of drawing?

TN & AT YT B TRgd A & e Aicpe Fn e
Al RB

RB



22

23

24

25

22

23

24

25

A2 Re

RC

A3 rD

RD

A gp

RP

Trade Theory

What is the area of playground for 1000 children? 2.0 0.00

1000 S0 P forT @A & AeM o1 & 182

.Al 0.10 hectare

0.10 hectare

A2 0.13 hectare

0.13 hectare

,A3 0.16 hectare

0.16 hectare

54 0.20 hectare

0.20 hectare
Trade Theory
Which one of the following is the hard landscape?

Frafafed # 3 3 9 81e o WU 82

:Al Plantation
CERUIE
:A2 Types of trees
TS & UPR
:AS Design of space for people

QNI o ferw STg o1 fewms
54 Terrace gardens

Trade Theory

In which portion of tectonic plates, earthquake generally occurs? 2.0 0.00

THRIE Wl & ford YT &, YT SR TR 8T 32

Al Plate boundaries

e aTdgt
f\2 Diversion plates
SEE WeH
:A3 Converging plates

A4 Middle portion

HET YT
Trade Theory

Which instrument is used to detect and record seismic waves? 2.0 0.00

YT T &1 Il T SR RIS I F 7w o IuesRor o1 SuaiiT faan wira 82

‘.A‘l Barograph

RETH



26

27

28

29

26

28

29

éz Seismograph
RiszipiEa

{\3 Diagraph
SHITh

:A4 Hygrograph
TR

Trade Theory

Which is known as hypocenter?

o gUIEeR & AT | ST ST 82

.A ! Epicenter

52 Focus

Eaca|

:A3 Focal depth
LaCRIGHE

?A4 Epicentral distance
TiReR gl

Trade Theory

What is the percentage of the structural cost of the building in the additional cost for the earthquake resisting structure?

UG TRy TR o ferg sifafed @t B Ya o SREFTES TRTd &1 e ufasid 82

A

! About 1%
T 1%
A2 About 2%

HT 2%
A

3 About 3%
AIMTHIT 3%
54 About 5%

HT 5%
Trade Theory
What is the minimum thickness for making R.C. Bands?

R.C ¥S TN & forT =gAaH Hies Jm 3|

fM 25mm

25mm

.AZ 50mm

50mm

A3 25mm

75mm

A4 100mm

100mm
Trade Theory

What is the distance between two through stones?

AMEAF M gh R 82

{\1 150 to 300mm

150 to 300mm

2.0

2.0

2.0

2.0

0.00



AZ 300 to 450mm

300 to 450mm
" 450 t0 600mm
450 to 600mm
:A4 600 to 750mm

600 to 750mm
Trade Theory

Which one of the following in structure is the most important factors affecting its earthquake performance?

TR A gl § @ B9 1 9o Ae@yUl HRS ¢ S 39% YU &b UG Bl THIAT HRaT 82

.Al Workability

o faferet
%2 Serviceability
UG addl

A3 Blexibility
SEISIE]
iA‘4 Responsibility

Trade Theory

Which precaution should be taken for site selection to prevent earthquake?

WU B e & AT R 987 & T 1A W Fraer= s=edl S anfeu?

fM Near unstable embankments

SRR Tesll & ure
f\Z On sloping ground

O g8 A R
:AS Columns of different height

fafdre Sarg & wiv
?'\4 Continuity of subsoil

ariger B R

Trade Theory

Which shape of building plan is safer for earthquake resisting building?

e w07 GIeT &1 B 1 3MHR YebU & fakry & qRidia &2

:Al Square plan
FBR @H

:A2 T- shaped plan
T- 3THR BT &I

?A‘S H- shaped plan
H-3{THPR BT &l

A4 Plan have length more than twice the width

M P A AT B ST | SRAT
Trade Theory

What is the name of the figure?

{TepTel T ATH T 22



34

35

36

34

35

36

UL
NNEN

DCN3SLINS

:Al Isolation bearings
ST st

:AZ Viscous damper

o SPR

Friction damper

YOI SR

:A4 Yielding damper

T TR

A3

Trade Theory

Which device act like shock absorbers between the building and its foundation?

I 3R 3T ~id b STE DI T SUDVI Wb SARYD PI IRE BIH BT 32

fM Damper

SR

52 Spring

&
f\3 Base isolation
EREEIESIGRE
64 Air bag
TR

Trade Theory

Which isolation bearings are highly elastic?

P W ST TN rAfde AEeR 82

.A] Wood
SEZ]

52 Steel

QI
:A3 Rubber

REN
:A4 Bearing pads

i s

Trade Theory

Which of the following option is taken, if the phone line system will be jammed after earth quake?

g ¥ @ o1 a1 ey T 9T 8, 3R R & YU & a1g B dig— RieH S 8 Siga?

fM Text messages
e Hex

AZ Call loudly

2.0

2.0

0.00

0.00



37

38

39

40

37

38

39

40

DId AGSA!
Call through phone

I & SIRT g

64 Whats app call

A3

FTCH T Dl
Trade Theory

Which of the following operation need to be done during carthquake?

&Y F GRM FEfEd & I 1 1 3R B Bl SHTa=aehd 82

fM Standing near the window

s & g @sTEAT

_AZ Collect and put together an emergency kit

Fidie 3R T AU e BT T T TE@T
Check your gas lines

3R T Tl b1 Wil X
:A4 Cover and hold on under a desk/table

PR IR FIeS Wb/ A W

A3

Trade Theory

‘Which material is strong in tensile strength?

T e B 1 91 v Aoed 89

{\1 Cement
e
Sand

X

{\3 Steel

A2

ERi|

A4 Water

Lisl

Trade Theory

What kind of material is concrete?

Hepie fhd aRg 1 vard &2
:A] Elasticity:
garafe R
?(\2 Brittle
forea
Stiff
HOR
A4

. Malleability

Aeftufaferdt

A3

Trade Theory

What is the maximum size of particle in fine aggregate?

BT Wiie & S0 o1 3ifiedy STHR &1 22

f“ 2.75 mm

2.75 mm

{\2 3.75 mm

2.0

2.0

2.0

0.00

0.00



3.75 mm
:A3 4.75 mm
4.75 mm
é4 5.75 mm

5.75 mm

Trade Theory
4 4 What is the ratio for M15 grade of concrete? 2.0

Pepic F M15 IS P U s | g2

Trade Theory
42 42 What is the PH value of water is used for concrete? 2.0

Feple & forg ur 1 pH A fbaT U favan srar 82

2 and 3

23R 3
4and 5
43R5
6 and 8

6 3R 8

A4 g and 10

9 3R 10

Al
A2

A3

Trade Theory

43 43 ‘What is the maximum absotption limit for coarse aggregate under water for 24 hours? 2.0

24 ¢ & 0 UMt & $fex 1 ©iie & A siferan sraeiyor e @ g2

Al 30,
3%
A2 50
5%
A3 70
7%
A gy,
9%
Trade Theory
44 44 When does the probs of slab is removed if the span is more than 4.5 m? 2.0

e W 4.5 m T 3P 1 A WS S Wieq B! e geT fau S g2

fM 7 days

7feq
52 14 days

14fea

0.00



A

3 21 days
21feq
‘.A4 28 days

28 feA

Workshop Calculation Science

45

45

What is the radius of a circle whose diameter is 44 cm?

T Y 3o R  foresT S 440m 72

{\1 44 cm

44 cm

Az 22 cm

22 cm

63 23 cm

23 cm
fM 20 cm

20 cm

Workshop Calculation Science

2.0

0.00

46

46

What is the value of x if 13+x =20?
I 134x = 20 T AN x BTAA T2

47

47

What is the formula for a™x a"?

a™ x a" ¥ fory wrdan

Al V

a

al]l
- %
o
{\3 a™

a'IIlIl

‘_A4 na™

na™

2.0

Workshop Calculation Science

48

48

Which is equal to (a™)"?

(aM)" fHTd SRR & |

2.0




A3
; am/n
am/n

A4

amn

Workshop Calculation Science

49 49 2.0 0.00

What is the expanded form of (a+b)2‘.7
(a+b)? T faRd =0 &7 82

D22 oab + 2
a% + 2ab + b2
2.'112-2ab+b2
a% - 2ab + b2

3 224 2ab - 12
a% + 2ab - b?
A

4
. -a®-2ab+ b’

-a2 - 2ab + b2

Workshop Calculation Science

50 50 2.0 0.00

What is the formula for (a-b)z?
(a-b)? BTGA AT E?

! a% - 2ab + b?
a® - 2ab + b?
2 a% + 2ab + b?
a? +2ab + b?
f\3 aZ-2ab - b2
aZ-2ab - b2
é4 -a - 2ab - b2
-a% - 2ab - b?
Employability Skills

51 51 Complete the sentence with suitable describing words It is a neighbourhood. One need not fear. 2.0 0.00
Complete the sentence with suitable describing words It is a neighbourhood. One need not fear.

_A ! good

good
.Az big
big
:AS safe
safe

expensive

expensive
Employability Skills

52 52 Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa___ place. 2.0 0.00

Complete the sentence with suitable describing words There isn’t any amusement park in the arca. It is a place.

fM polluted
polluted
{\2 dry

dry



A3 .
.~ noisy
noisy
54 boring
boring
Employability Skills
Complete the sentence with suitable describing words There is a factory in the area. The air is
Complete the sentence with suitable describing words There is a factory in the area. The air is
_Al polluted
polluted
{\2 boring
boring
3
uneven
uneven
A4 .
. noisy
noisy
Employability Skills
Complete the sentence with suitable describing words There is water scarcity in the locality. The area is
Complete the sentence with suitable describing words There is water scarcity in the locality. The area is
1
uneven
uneven
2 .
noisy
noisy
.A3 dry
dry
54 boring
boring

Employability Skills

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
are

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
are

.Al dry

dry

AZ polluted
polluted

'A3 boring
boring

4

uneven

uncven

Employability Skills
What help us to maintain the balance between mental and physical activities?
What help us to maintain the balance between mental and physical activities?

A

! Hobbies
Hobbies
.AZ Running

Running



57

58

59

60

57

58

59

60

f% Walking
Walking
54 Reading

Reading

Employability Skills

When you meet the instructor inside or outside the ITI, it is.... 2.0 0.00

When you meet the instructor inside or outside the ITI, it is....

! always formal
always formal
{\2 . formal inside the ITI
. formal inside the ITI
3 informal the ITI
informal the ITI
4. .
informal outside

informal outside

Employability Skills

Role models people to follow them 2.0 0.00

Role models people to follow them

! elevate
elevate

2 instruct
instruct
inspire
inspire

4 motivate

motivate

Employability Skills

Spoken communication is usually not only but also, 2.0 0.00

Spoken communication isuisually not only but also

fM formal, informal
formal, informal
2 verbal, nonverbal
verbal, nonverbal
3 verbal, informal
verbal, informal
A4

. formal, nonverbal

formal, nonverbal

Employability Skills
The immediate surroundings to the place you live in is called 2.0 0.00
The immediate surroundings to the place you live in is called
_Al village
village
A2
. town

town

3 .
city



61

62

63

64

61

62

63

64

city
4 .
neighbourhood

neighbourhood
Employability Skills
The conditions in a place that affect the behaviour and development of somebody or something is called
The conditions in a place that affect the behaviour and development of somebody or something is called

_Al neighbourhood
neighbourhood
2 .
environment
environment
_A3 locality
locality
A4 o cilities
facilities
Employability Skills

Which kind of persons are with very good behaviour, achievements and lead as an example?
Which kind of persons are with very good behaviour, achievements and lead as an example?

! customer service executives
customer service executives
éz ITI instructors
ITI instructors
53 role models
role models

4 .
sales supervisors

sales supervisors

“_ " Employability Skills

There ------------- a coffee shop --------- N, the park.
There ------------- a coffee shop --=-------=------ the park.

1
are, next to
are, next to
2.
18, next to
is, nextto
3.
18, next
is, next
are, next

are, next
Employability Skills

-- to prevent water scarcity
---- to prevent water scarcity

Rainwater harvesting -

Rainwater harvesting ----

Al .

o gives
gives
2
gave
gave

_A3 help

help

2.0

2.0

2.0

2.0

0.00

0.00



65

66

67

68

65

66

67

68

64 helps

helps

Identify the opposites. clean X --------=nn-----.
Identify the opposites. clean X =------m--=----

,Al dirty, health
dirty, health
:A2 . dirty, healthy
. dirty, healthy
f\3 dirt, unhealthy
dirt, unhealthy
f\4 dirty, unhealthy
dirty, unhealthy

‘Which one is not an adventure?
Which one is not an adventure?

:Al climbing mountains
climbing mountains
:A2 trekking
trekking
3 surfing
surfing
A4 driving
driving
Travelling in the sea is calleda_
Travelling in the sea is calleda__
! voyage
voyage
éz boating
boating
?AC’ fishing
fishing
fM tour

tour

There are many dos and don’ts to be --------
There are many dos and don’ts to be --------

A

1 there, interview
there, interview
.AZ identify,
identify,
:AS identified, interviewed
identified, interviewed

A4 . . . .
. identified, interview

Employability Skills
B0 1171 1117 - ——
TS 131V G —

Employability Skills

 Employability Skills

Employability Skills
while preparing for/ attending an
while preparing for/ attending an

2.0

2.0

2.0

2.0

0.00

0.00



identified, interview
Employability Skills

your mobile phone ----- silent mode.
your mobile phone ----- silent mode.

know, in

.AZ know, of

know, of
{\3 keep, in
keep, in

_A4 keep, of

keep, of
Employability Skills

The Everest, the -------mm-m-mnmx peak in the world, ----------- in Tibet.
The Everest, the ----------=---==- peak in the world, ----------- in Tibet.

A high, is
high, is
AZ higher, is
higher, is
fw highest, are
highest, are
?AA highest, is
highest, is
Eglplgyabi-litz Sl;lls

Which language is essential to become a Computer professional?
Which language is essential to become a Computer professional?

‘_Al Mother tongue

Mother tongue
?'\2 Chinese
Chinese
.AS English
English
A Hindt
Hindi
Employability Skills

Which is the Synonym for "loyal"?
Which is the Synonym for "loyal"?

M Faithful
Faithful
:A2 Prosperous
Prosperous
'A3 Utopian
Utopian
:A4 Perfect

Perfect

Employability Skills



373 When you speak to your supervisor, you should be
When you speak to your supervisor, you should be

{\1 Aggressive
Aggressive
AZ Formal

Formal

_AS Informal

Informal
54 Casual

Casual
Employability Skills

7474 Which one is the describing word from among the words given?
Which one is the describing word from among the words given?

{\1 Mobile phone

Mobile phone
.AZ Water
Water

A3 puit

Pull

A4 Magnificent

Magnificent

Employability Skills |

75 75 A sentence is a sentence that expresses a direct, command, invitations, warning or instruction.
A sentence is a sentence that expresses a direct , command, invitations, warning or instruction.

! simple
simple
2 compound
compound
imperative
imperative
:A4 adjective

adjective

2.0

2.0

0.00

" 0.00




Draughtsman Civil -2nd year (Eng) SET 2

Question Number

Correct Alternative position

1 A1
2 A4
3 A3
4 A3
5 A3
6 A3
7 A3
8 A3
9 A2
10 A3
11 A3
12 A3
13 A3
14 A3
15 A3
16 A2
17 A2
18 A2
19 A1
20 A3
21 A2
22 A2
23 A3
24 A1
25 A2
26 A2
27 A4
28 A3
29 A4
30 A3
31 A4
32 A1
33 A2
34 A3
35 A3
36 A1
37 A4
38 A3
39 A2
40 A3
41 A2
42 A3
43 A2
44 A2
45 A2




46 A2
47 A1
48 A4
49 A1
50 A1
51 A3
52 A4
53 A1
54 A3
55 A4
56 A1
57 A1
58 A3
59 A2
60 A4
61 A2
62 A3
63 A2
64 A4
65 A4
66 A4
67 A1
68 A4
69 A3
70 A4
71 A3
72 A1
73 A2
74 A4
75 A3




	Draughtsman Civil Year 2 S2
	Draughtsman Civil - 2nd Year (Eng) - Set 2



